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1. The candidate shall NOT open this booklet till the time told to do so by the Invigilator. However, in the meantime, the candidate
may read the instructions carefully and subsequently fill the appropriate columns given above in CAPITAL letters. The
candidate may also fill relevant columns (Other than the columns for marking responses to the questions) of the OMR Response
Sheet, supplied separately.

2. Use only BLUE OR BLACK ball point pen to fill the relevant columns on this page. Use similar pen for marking responses on
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8. Partly darkening the circle/oval on the OMR response sheet or using other symbols such as tick mark or cross, would not result in i
evaluation of the response as the OMR scanner can only interpret the answers by reading the darkened responses in the manner
explained in preceding paragraph. Darkening more than one circle/oval as response to a question shall also be considered as
Wrong answer.

9. This question paper booklet has 28 pages. THE QUESTIONS ARE PRINTED IN ENGLISH AND PUNJABIL QUESTIONS IN
PUNJABI ARE A TRANSLATION OF THE ENGLISH QUESTIONS. IN CASE OF ANY AMBIGUITY IN TRANSLATION,
THE ENGLISH VERSION WILL BE DEEMED AUTHENTIC AND FINAL :

10. THE CANDIDATES, WHEN ALLOWED TO OPEN THE QUESTION PAPER BOOKLET MUST CHECK THE BOOKLET ‘

TO CONFIRM THAT THE BOOKLET HAS COMPLETE NUMBER OF PAGES, THE PAGES ARE PRINTED CORRECTLY '
AND THERE ARE NO BLANK PAGES. IN CASE THERE IS ANY SUCH ERROR IN THE QUESTION PAPER BOOKLET
THEN THE CANDIDATE SHOULD IMMEDIATELY BRING THIS FACT TO THE NOTICE OF THE INVIGILATION
STAFF AND OBTAIN A BOOKLET OF THE SAME SERIES AS GIVEN EARLIER.
Thereafter, the serial number of the booklet should be entered in the relevant column of the OMR. Wherever applicable, the
candidate should request the Invigilation Staff to authenticate the change in the serial number of question booklet by making
correction in the appropriate column of Attendance Sheet, where the Staff shall enter the correct serial number of the question
booklet and initial the same,

11. All questions carry equal marks i.e. Two and a half marks for each question.

12. There is no negative marking.

13. THERE ARE FOUR OPTIONS FOR EACH QUESTION AND THE CANDIDATE HAS TO MARK THE MOST
APPROPRIATE ANSWER ON THE OMR RESPONSE SHEET.

14. THE RIGHT TO EXCLUDE ANY QUESTION(S) FROM FINAL EVALUATION RESTS WITH THE COMMISSION.
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Read the following passage and answer
the Question Nos. 1 to 6 given below :

Chemical pesticides lose their role in
sustainable agriculture if the pests evolve
resistance. The evolution of the pesticide
resistance is simply natural selection in
action. It is almost certain to occur when
vast numbers of a genetically variable
population are killed. One or a few
individuals may be unusually resistant
(perhaps because they possess an enzyme
that can detoxify the pesticide). If the
pesticide is applied repeatedly, each
successive generation of the pest will
contain a larger proportion of resistant
individuals. Pests typically hia.:g' a_ high
intrinsic rate of reproductiony.and 8o a few!
individuals in one generation may give rise
to hundreds or thousands in the next, and
resistance rapidly in

spreads a

very
population.

This problem was often ignored in
the past, even though the first case of DDT
(dichlorodiphenyltrichloroethane) resistance
was reported as early as 1946. There is an
exponential increase in the number of
invertebrates that have evolved resistance

and in the number of pesticides against
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which resistance has evolved. Resistance
has been recorded in every family of
arthropod pests (including dipterans such as
mosquitoes and house flies, as well as
beetles, moths, wasps, fleas, lice and mites)
as well as in weeds and plant pathogens.
Take the Alabama leaf worm, a moth pest of
cotton, as an example. It has developed
resistance in one or more regions of the
world to aldrin, DDT, dieldrin, endrin,

lindane and toxaphene.

If chemical pesticides brought
nothing but problems, — if their use was
intrinsically and acutely unsustainable —
then they would already have fallen out of
widaspread use. This has not happened.

Instead, their rate of production has

1 'Eigqﬁased rapidly. The ratio of cost to benefit

for the individual agricultural producer has
remained in favour of pesticide use. In the
USA, insecticides have been estimated to
benefit the agricultural products to the tune
of around $5 for every $1 spent.

Moreover, in many poorer countries,
the prospect of imminent mass starvation,
or of an epidemic disease, are so frightening
that the social and health costs of using

pesticides have to be ignored. In general, the
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use of pesticides is justified by objective
measures such as ‘lives saved’, ‘economic
efficiency of food production’ and ‘total food
produced’. In these very fundamental
senses, their use may be described as
sustainable. In practice, sustainability
depends on continually developing new
pesticides that keep at least one step ahead
of the pests — pesticides that are less
biodegradable and more

persistent,

accurately targeted at the pests.

1. “The evolution of the pesticide
resistance is simply natural selection
in action.” What does it actually
imply ?

(@) It is very natural for many
organisms to have ‘pesticide

resistance.

(b) Pesticide

organisms is a

resistance among
universal

phenomenon.

(c) Some individuals in any given
population show resistance after

the application of pesticides.

(d) None of the statements (a), (b)

and (c) given above is correct.
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With reference to the passage,
consider the following statements :

1. Use of chemical pesticides has
become imperative in all the poor

countries of the world.

2. Chemical pesticides should not
have any role in sustainable

agriculture.

3. One pest can develop resistance
to many pesticides.

Which of the statements given above
is/are correct ?

(a) 1and 2only

(b) 3 only

(¢) 1and3only

(d 1,2and3

;iﬁoug.}i' the problems associated with
the use of chemical pesticides is
known for a long time, their
widespread use has not waned. Why ?

(a) Alternatives to chemical

pesticides do not exist at all.

(b) New pesticides are not invented
at all.

(c) Pesticides are biodegradable.

(d) None of the statements (a), (b)
and (c) given above is correct.
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4. How do pesticides act as agents for the
selection of resistant individuals in
any pest population ?

1. It is possible that in a pest
population the individuals will
behave differently due to their
genetic makeup.

2. Pests do possess the ability to
detoxify the pesticides.

3. Evolution of pesticide resistance
is equally distributed in the pest
population.

Which of the statements given above
is/are correct ?

(a) 1only

(b) 1 and 2 only

(¢) 3only

(d 1,2and3

8. Why is the use of chemical pesticides
generally justified by giving the
examples of poor and developing
countries ?

1. Developed countries cam afford to
do away with use of pesticides by
adapting to organic farming, but
it is imperative for poor and
developing countries to use
chemical pesticides.

2. In poor and developing countries,
the pesticide addresses the
problem of epidemic diseases of
crops and eases the food problem.

3. The social and health costs of

pesticide use are generally
ignored in poor and developing
countries.

Which of the statements given above
is/are correct ?

(a) 1only
(b) -1 and 2 only
(¢) 2only
(d 1,2and3
SCS-2 (A -
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6. What does the passage imply ?

(a) Alternative options to chemical
pesticides should be promoted.

(b) Too much use of chemicals is not

good for the ecosystem.

the
improvement of pesticides and

(¢) There is no scope for

making their use sustainable.

(d) Both the statements (a) and (b)

above are correct.

Read the following passage and answer
the Question Nos. 7 to 9 given below :

Education, without a doubt, has an
important functional, instrumental and
utilitarian dimension. This is revealed when
one asks questions such as ‘what is the
purpose of education?”. The answers, too
often, are ‘to acquire qualifications for
gﬂgl?gent/upward mobility’, ‘wider/higher
(ih' te
meet the needs for trained human power in

s of income) opportunities’, and ‘to

diverse fields for national development’. But
in its deepest sense education is not
instrumentalist. That is to say, it is not to
be justified outside of itself because it leads
to the acquisition of formal skills or of
certain desired psychological-social
attributes. It must be respected in itself.
Education is thus not a commodity to be
acquired or possessed and then used, but a
of inestimable

process importance to

individuals and society, although it can and
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does have enormous use value. Education
then, is a process of expansion and
conversion, not in the sense of conversion —
turning students into doctors or engineers,
but the widening and turning out of the
mind — the creation, sustenance and
development of self-critical awareness and
independence of thought. It is an inner

process of moral-intellectual development.

7. What do you understand by the
“instrumentalist’ view of education ?

(a) Education is functional and
utilitarian in its purposes.

(b) Education is meant to fulfil
human needs.

(¢) The purpose of education is_ to
train the human intellect. S

(d) Education is meant to achieve
moral development.

8. According to the passage, education
must be respected in itself because

(a) it helps to acquire qualifications
for employment.

(b) it helps in upward mobility and
acquiring social status.

(¢) itis an inner process of moral and
intellectual development.

(d) All the (a), (b) and (c) given above
are correct in this context.

SCS-2
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9. Education is a process in which

(a) students are converted into

trained professionals.

(b) opportunities for higher income
are generated.

(¢) qualifications for upward

mobility are acquired.

(d) individuals develop self-critical
awareness and independence of
thought.

Read the following passage and answer
the Question Nos. 10 to 12 given below :

The first step is for us to realize that
a city need not be a frustrater of life; it can
be among other things, a mechanism for
enhancing life, for producing possibilities of
living which are not to be realized except
through [citiés. |But, for that to happen,
deliberate and drastic planning is needed,
Towns, as‘m_u?h: as animals, must have their
systems of organs — those for transport and
circulation are an obvious example. What
we need now are organ systems for
recreation, leisure, culture, community
expression. This means abundance of open
space, easy access to unspoilt nature, beauty
in parks and in fine buildings, gymnasia
and swimming baths and recreation

grounds in plenty, central spaces for

| celebrations and demonstrations, halls for

citizens’ meetings, concert halls and
theatres and cinemas that belong to the city.
And the buildings must not be built anyhow
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or dumped down anywhere; both they and
their groupings should mean something
important to the people of the place.

10. The author talks about “unspoilt
nature”. In what way can nature
remain unspoilt ?

(a) If nature is not allowed to
interfere with people’s day-to-day

life.

(b) By building cities with the
system of organs like those of
animals.

(¢) By allowing free access to parks

and open spaces.

(d) By allowing nature to retain its
primitive, undomesticated
character.

11. Which one of the following has the
opposite meaning to the word
‘frustrater’ in the passage ?

(a) Promoter s O

(b) Applauder —r

(¢) Approver

(d) Executor

12. “.. the buildings must not be built
anyhow or dumped down anywhere
.7 The statement implies that
buildings
(a) should be built with suitable

material.

(b) should be constructed, according
to some suitable design, not
indiscriminately.

(¢) should be scattered to provide for
more of open space.

(d) should be built to enable citizens
to enjoy nature.
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Choose the word which is the exact
opposite of the word “ABLE”.

13.

(a) Disable
(b)
(e)

(d)

Inable
Unable
Misable

Directions for Question Nos. 14 and 15 :

Give the Opposite meaning of the underlined
word.

14. Though his view his

behaviour was impertinent.

is correct,

(a)
(b)

healthy
respectful
(c) inadequate

smooth

15. The manager is quite tactful and

handles
effectively.

(a)
(b)
()
(d)

the workers union very

disciplined
loose
strict

naive
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Directions for Question Nos. 16 to 18 :

Find out the appropriate meaning of the
given word from the choices given below it.

16. Chattel
(a) Movable personal possession
(b) Barrister’s wig
(c) Obligation

(d) Piece of land

17. Subpoena
(a) Punishment
(b) Delay
(¢) Summons

(d) Ban

18. Recidivist
(a) Defendant
(b) Hermit

(¢) Long term prisoner
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Directions for Question Nos. 19 and 20 :

Choose the most appropriate option.

19. Did you have 1lunch at home
yesterday ?

(a) No, I haven't.
(b) No, I hadn’t.
(e) No, Ididn’t.
(d) No, Idon’t.

20. Where do you live ?
(a) At 45 Green Street, London.
(b) On 45 Green Street, London.
(c) In 45 Green Street, London.
(d) From 45 Green Street, London.

Directions for Question Nos. 21 and 22 ;

Which of phrases given below each sentence
should replace the underlined phrase to
.make it grammatically correct ? If the

| sentence is eorrect @s it is, mark ‘D’ as the
| answer.

21. Ramef_li‘jp ag tall if not, taller than
Mahesh.

(a) not as tall but

(b) not so tall but as

(c) as tall as, if not

(d) No correction required

22. They examined both the samples
very carefully but failed to detect
any difference in them.

(a) any difference between
(b) some difference between
(c) some difference in

(d) Frequent law breaker

SCS-2
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(@ ferfaordt o<t
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Directions for Question Nos. 46 to 48 :

Each question presents a situation and asks
you to make a judgment regarding that
particular situation. Choose an answer

based on the given information.

46. The School Principal has received

complaints from  parents about
bullying in the school yard during
recess. He wants to investigate and
end this situation as soon as possible,
so he has asked the recess aides to
watch closely. Which situation should
the recess aides report to the
Principal ?

-
(]

(a) A girl is sitting glumly on a bench |

reading a book and not
interacting with her peers.
(b) Four girls are surrounding

another girl and seem to have

possession of her back pack.

(¢0 Two boys are playing a
one-on-one game of basketball
and are arguing over the last

basket scored.

(d) Three boys are huddled over a
handheld videogame, which isn’t
supposed to be on the school
grounds.

SCS-2

e
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yms & 46 F48 B TR

WW?@HUWE’HF@?”? =
frg w8 HE € HIEE f59eT 8
5 35 foF goaT @ w9 3 €9
ge ! |

m.ngséﬁiﬁmisﬁﬁnﬁ%w—
fuzr 28 wift-g8t S5 HIs fed
S | €7 fom & UESE 94,
fom FHfrmr § A3 -3-78s! ¥3H
g5 9w 3 | fem = GRS
wfi-gf =8 wofear § feaamal
Sy = faor | I5 fofimi o9
faot wadt #fi-gd € wofes
éﬁﬁ‘{x;ﬂus%ftmr'?sfeqfsw@ﬁ
gt T 2

el fog wadt Qe feg 89 3 85

3 fazg ug Idt T w3 wueS
T 58 IFB-93 B I
It |

b T9 sadwr g sEdt €
WB-oS J6 W3 BIer J fa
n o &1 85T IB I |

© ¢ B33 »yA feg ewfdcES
¥3 33 5 W2 wdt AT €3
gfon 8 39 I6 |

@ fis s33 Jut few g5 <
Hfs@ dn § 8 IB-IAB I
& J5, 7 fa 7g® a9 =9
&t I grdtET |

(A-14)
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47.

SCS-2

Ms. Carson took a taxi to meet her
three friends for lunch. They were
waiting for her outside the restaurant
when she pulled up in the car. She
was so excited to see her friends that
she left her bag in the taxi. As the taxi
pulled away, she and her friends took
notice of the number plate so they
would be able to identify the car when
they call the taxi company.

1. The four women seem to agree
that the number plate starts out
with the letter J.

2. Three of them agree that the
number plate ends with 12T.

3. Three of them think that the
second letter is X, and a different
three think that the third letter is
K.

The four number plates below

represent what each of the four
women thinks she saw. Which one is
most likely the number plate of the

taxi ?

(a) JXK 12L
(b) JYK12L
(e) JXK12I

(d) JXX12L

(A-15)
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47. THH I9As & iyt 135 RIS’

% @9 3 fuze =t et it | 7
¥ wgg Ondt HISwt BRE
fta a9 g™ ws | BT wruEht
RISk § 2?4 3 et 83fas I aret
fg 2aft feg »us a1 & I8
ardt | 79 St 7 gt ft, B w3
St FIEM ¥ 2t @ &=9
yBe § <fr 3t 7 St € st
$ orc wdt St €t g I A |
1. 979 »igz’ few I 3 AfoW3
J5 fa 399 yde W9 J 3 HY
gt I
2. B fed fds wiowz T fa
899 uBe ¥ wiflg feg 1219 |
3.0 feg 35 Aedht I5 f
o g X T w3 e
3z Aot g fa v wivg
KJ I
Fadt I8 7 fg 997 fed I9 &g
a3 & A9 wigHg <t | fegt
feg fagdft d99 uB<, Zat &t &u9
&2 J= <t A9 3 U HI=sT J ?
(a) JXK 12L
(b) JYK 12L
(¢) JXK121I
(d) JXX 12L
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Naveen, an accomplished pastry chef
who is well-known for his artistic and
exquisite wedding cakes, opened a
bakery one year ago and is surprised
that his business has been so slow. A
consultant he hired to conduct market
research has reported that the local
population doesn’t think of his shop as
one they would visit on a daily basis
but rather a place they’d visit if they
were celebrating a special occasion.
Which of the following strategies
should Naveen employ to increase his
daily business ?
(a) Making coupons available that
entitle the coupon holder to

receive a 25% discount on
wedding, anniversary, or
. birthday cakes.

(b) Exhibiting at the next Bridal
Expo and having pieces_of one of
his wedding cakes avallable for
tasting.

(¢) Placing a series of ads in the local

newspaper that advertise the |

wide array of breads.

(d) Moving the bakery to the other
side of town.

Directions for Question Nos. 49 to 52 :

Each question consists of two words which
have a certain relationship to each other
followed by four pairs of related words.
Select the pair which has the same
relationship as that of the words gwen in the
question.

49.

SCS-2

Mundane : Spiritual
(a) Common : Ghostly
(b) Worldly : Unworldly
(¢) Routine : Novel

(d) Secular : Clerical

(A-16)
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48. 335, B faus Unedt gaBe =

Bag wad! feg Audt T fa 6w &t
m%fmﬁfeﬁnmenaaw@s
B & g gfter 3 o Ty Sww
33 3 | 3216 § MUT JAST A9
g faosft & M8t
gt I 2

o a9 3 25% &2 o< |

(b) wErdt fewrg AEft HewT 3
Y=ZaHa! BArger w3 fenrg ©
J9 ¢ a3 Jus sE Quwsn
Jue |

(0 B8 wHEd feu ¥ yo9d @

99 3 Hedl -y fenfsga
BUEe |

d) Hfgg € g4 YH gadt faee
Ecr M

YHE 3. 49 352 € B geeT:

I YHE € HEET T glew JEwT I,
173" € WUH €9 HE:
HEe™ e §'9 A3 18 I3 | 857
fed B #31 §& e yus fev 163
HES" @87 HEq Je |

49. Bfsa : g3t

g 3 | 67 F gwe

(a) HUGS: g3-Y3I HEdl

(b) Slfon . micgfont<t

(c) T35 : B

(d) TIHf&sY : y=dt &% HEfu3
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50.

51.

52.

53.

SCS-2

Filter : Water

(a) Curtail : Activity
(b) Expunge : Book
(¢) Edit: Text

(d) Censor : Play

Symphony : Composer
(a) Leonardo : Music
(b) Fresco : Painter

(¢) Colours : Pallet

(d) Art: Appreciation

Diva : Opera

(a) Producer : Theatre
(b) Director : Drama
(¢) Thespian: Play
(d) Conductor : Bus

Find the missing number in the
following series.

1, 6, 36, 240, 1960, ?
(a) 19660
(b) 3680
(c) 36800
(d) 19600

Identify the letter series and find the
missing letter in the following.

AZY, BUT, CXW, DWV, ?

(a) EVU
(b) BVU
(c) EWV
(d EWX

50.

51.

52.

53.

54.

(A-17)
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femes : vt
(a) WS FI&T : AH
(b) deeT : faz™

(c) HU™EA : US
(@) HAg I35 : e

3T : Hefl3ag
(a) foG&as : Al
(b) SIHA : 9339
(¢) Jar: Jar &t &
(d) E\"B"l[\ﬁ"ﬂ"

Wy arfear : Az &

(a) feau3r : 3‘?33[&[/&‘1@23
(b) fasemd: SIHT

() wifgazmifessdt : aed
(). g392d : §H

Iz fou fag arfey 899 B9 |
1, 6, 36, 240, 1960, ?.

(a) 19660
(b) 3680

(c) 36800
(d 19600

st @ wH § uEE w3 Is
fafimrt feg arfes »iug B9 |

AZY, BUT, CXW, DWV, 2
(a) EVU

(b) BVU
(c) EWV

- (d) EWX
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55.

56.

57.

SCS-2

| g~ - = i , then each of | 55.
b+c c¢c+a . a+b

them is equal to
(@) (a+b+c)?

1
b)) =
(b) n
() 0
@

) 56.
Two trains are moving in the same
direction. A person in the slower train
observes the faster train pass him in
25 seconds. And a person in the faster
train observes the slower train pass in
40 seconds. What is the ratio of the
lengths of the slower train to that of
the faster one ? ~—
(a) 4:5
(b) 8:5
() 6:5
(d 3:5
There are 4 women and 4 men. They | 57.
have to be arranged around a circular
table such that no two women sit
together. How many ways are there to
perform the werk ?
(a) 576
(b) 144
(¢ 72
(d) None of these

(A-18)

Target Punjab with

Siddhi Punjab
- [P R BT
b+ec c+a a+b L
feg g99g Jaar
(a) (a+b+c)?
i |
b)) —
(b) -
(¢) 0
11
)
(d) =

€ I8 i fed femr fem s
It 75 | It um It I S
feg Sfenr wrarft Suer § fa 39
95 gt @St 25 Afds few €n 38
3w 7 T | M3 37 I\ 9t g
gfonm vt duer T fa J&t 9
it I3 ISt 40 Afds feu Swh
J | I 9z It didt & Seet o
I I8 It TS & g mm
wEU3 oft T 2

(@) 4:5

(b) 8:5

(a) 576
(b) 144
(e) 72
(@ ot =f
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58.

59.

60.

SCS-2

6 friends are playing a card game.
Sunil and Ram are facing each other.
Ram is to the left of Aman and to the
right of Pranav. Aman is to the left of
Dheeraj. If Yogesh and Dheeraj
interchange their places and so do
Pranav and Ram, then who will be
sitting to the left of Dheeraj ?

(a)
(b)
(c)
(d)

Ram
Sunil
Pranav

Yogesh

Two students appeared in
examination.
9 marks more than the other and his
marks were 56% of the sum of their
marks. What are the marks obtained
by them ?

(a) 42,33

(b) 42, 36

(c) 44,33

(d) 44,36

an
One of them secured

In an election between two candidates,
one got 55% of the total valid votes.
20% of the votes were invalid. If the
total number of votes was 7500, what
was the number of valid votes that the
other candidate got ?

(a) 2800
(b) 2700
(e) 2100
(d) 2500

(A-19)

58.

59.

Target Punjab with
Siddhi Punjab

6 THZ I'H U3 IJ I5 | HAI® M3
IH feg g7 T WIH-AIHE T3 |
IH, MHE € ¥F UH T m3 YT ©
R OUE | wiHe, fiow € ¥8 UH
Y | 799 Gaw w3 digd wmuEh
gt »yr feu Tu5 8 w3 fen
3g yE= w3 IH &, 3 dlw €
Y YR d< 85T I ?

& fefonradtt & foufsas &3 |
G5t f&3 fea & gAT 3 9 »ia =W
B dge’ @ 9% ¥ 56% HI | =T
TRFLIcs wig Y3 i3 91E ?

42, 33

42, 36

44, 33

44, 36

(a)
(b)
()
(d)

g Qffeest T Je-Haes feu fex
% 9% Adt T 5 55% < YU3
| 20% << At & AE |
f99 I8 = 7500 WS, I EHG
fHatn™ 2
(a) 2800
(b) 2700

(¢) 2100
(@ 2500

u

7
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61.

62.

SCS-2

John and Dani go for an interview for
two vacancies. The probability for the

selection of John is %, whereas the

probability for the selection of Dani is
%. What is the probability that none

of them are selected ?

(a)
(b)
() —

(d)

A and B entered into a partnership
investing ¥ 16,000 and ¥ 12,000
respectively. After 3 months, A
withdrew ¥ 5,000 while B invested
T 5,000 more. After 3 more menths, C
joins the business with a-capital of
¥ 21,000. The share 'of B exceeds that

of C, out of a total prefit of & 26,400

after one year, by
(a) = 3,200
(b) =¥ 3,400
(¢) T 3,600
(d) = 3,800

A family consists of two grandparents,
two parents and three grandchildren.
The average age of the grandparents
is 67 years, that of the parents is
35 years and that of the grandchildren
is 6 years. What is the average age of
the family ?

(a) 28% years
5
(b) 31 - years

(c) 32% years
(d) None of these

Target Punjab with
Siddhi Punjab
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62.

63.
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64.

65.

Present ages of Sameer and Anand are
in the ratio of 5 : 4 respectively. Three
years hence, the ratio of their ages will
become 11 :
Anand’s present age in years 7
(a) 24
(b) 27
(c) 40
(d) 30

9 respectively. What is

&

[5 = 711—] is added to a number. From

ofl is
4

remainder 1s

the sum so obtained, %
subtracted and
[1 + i).The number is

the

3

(a)
(b)
(e)

(d)

If Sam can do a job in 4 days that Lisa
can do in 6 days and Tom can do in
2 dayg, how long would the job take if

), Lisa and Tom worked together to

64.

65.

66.

(- 21)
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g T WEUS gHET 5:4 I |
f3s 78 gmiw o9t & GHaT =
WEU3 FHG 11:9 J H'<ar | g€
wige ot Qg (st fe9) fadt T 2
(a) 24
(b) 27
(¢c) 40
(d 30

feazs*aafeg[f-—]ﬁfsww
%rlfwﬁafe%zwgw?few_-
i fegdge T

(a)

Rt | ~

-
-
1
it

(d)

Fag 7y feg v & 4 fes’ e a9
Wﬁ.@ﬁgmeﬁwﬁaaa
et 3 w3 v 6wg 2 fost feu
gd AT J | 9H & YT I35 BEL
fasr W Sder 7 AW, I o3
v feds aH J3< ?

(a) 0.8fg&

(b) 1.09fea

) 1.23fes
(d 1.65fes
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Directions for Question Nos. 67 to 70 :

A school has four Sections A, B, Cand D of
Class IX students.

The results of half-yearly and annual
examinations are shown in the table given
below :

Number of students
Result
Section|Section|Section|Section

A B C D
Students failed in
R 28 23 17 27
Students failed in
half-yearly but
passed in Annual == 12 8 £
Exams
Students passed
in half-yearly but
failedin Annual | 6 | 17 | 9 |15
Exams

Students passed

64 55 46 76

Target Punjab with
Siddhi Punjab

YHE 3. 67 370 @ B gt

3% 5} 5t fog fowrfon iy 3
fefenrading & forst
A B ) D

14 12 8 13

in both Exams
fog w58 64 55 46 76
67. How many students are there in | fefenradt |
Class IX in the school ? 67. WIS fo¥ IxX (?ﬁﬁ) T3 fog i
(a) 336 fefenradt g5 2
(b) 189 (a) 338
(©) 335 (b) 189
(d) 430 (¢) 335
(d) 430
68. Which section has the maximum pass | 68. ¥ foHfagrst feg fam feg feg
percentage in at least one of the two fag2 faws <t um 3{&,’93 " 3
examinations ? 3T T 2
(a) Section A (a) BEHE A
(b) Section B b BaEs B
() Section C () HIHE C
(d) Section D @ BEEE D
SCS-2 (A-22)
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69.

70.

71.

72.

73.

Which section has the maximum
success rate in annual examination ?
(a) Section A

(b) Section B

(¢) Section C

(d) Section D

Which section has the minimum
failure rate in half-yearly
examination ?

(a) Section A

(b) Section B

(¢) Section C

(d) Section D

If A + B means A is the brother of B;
A — B means A is the sister of B and
A x B means A is the father of B.
Which of the following means that C is
the son of M ?

(a) M-NxC+F

(b) F-C+NxM

(e N+M-FxC

(dd MxN-C+F

Find the missing number :
112,111, 119, 92, 156, 31, _2_
245

247

241

249

(a)
(b)
(c)
(d)

Which number replaces the question
mark ?

1 2197 1728

125

i1 | 8 4096| 58 (2744 512 ? |1331

SCS-2

27 3375 729

(a)
(b)
(c)
(d)

(A=

69.

70.

71.

72.

73‘
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fao3 fisms &t wEe feufsas
feg qvast T9 R S W T ?
(a) AdHG A
AaHG B
(c) HaHS C
(d) FIHE D

fagz Aaws é‘%mﬂtﬁmﬁma

ﬁG%BEEYﬂ€3H§3w239
) AdHS A

(m A3Hs B

(c) HaHES C

(d FaHE D

TG A+B T »dg J fa A, B &
3T T A-B T wgg J fg A, B &t
ST T M3 AxBE WIE J {9 A B
o fuzr 3 | Iz foy I fe9 faus
TwgmIfac,MeTYST I ?

(a) M-NxC+F

() BB~ C + NxM

(©0) N+ M-FxC

@) MxN-C+F

arteg (fufiar) &99 39 |

112, 111, 119, 92, 156, 31, _2_
245

247

(¢ 241

(d) 249

399 Hdt Y
gdfter J 2

(a)
(b)

J 98

7 Bfam ICAEM
feg fafiorr J&

1 2197 1728

126

11| 8 4096( 58 |2744 512 | ? [1331

23)

27 3375 729

(a) 41
(b) 36
(e) 40
(d 35
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74. In a caravan, in addition to 50 hens, | 74.
there are 45 goats and 8 camels with
some keepers. If the total number of
feet be 224 more than the number of
heads in the caravan, the number of
keepers is
(a) 5
(b) 8
(e) 10
(d) 15

75.

75. In a certain code language, ‘3a, 2b, 7¢’
means ‘Truth is eternal’; ‘7c, 9¢, 8b, 3a’
means ‘Enmity is not eternal’ and
‘Oa, 4d, 2b, 8b’ means ‘Truth does not
perish’. Which of the following means
‘enmity’ in the code language ?

(a) 3a
(b) Te
(e) 9c
(d) 9a |
76.

76. Consider the directions :

Mr. A, Ms. B, Mr. C and Ms. D are

sitting around a table and discussing

their trades :

1. Mr. A sits opposite to the Cook.

2. Ms. B sits on the right of the
Barber.

3. The Washerman is to the left of
the Tailor.

4. Ms. D sits opposite to Mr. C.

What are the trades of A and B ?

(a) Tailor and Barber

(b) Tailor and Cook

(¢) Barber and Cook

(d) Washerman and Cook

SCs-2 (A-24)
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feg grge’ feg 50 Haaf 3 fegrer
45 g3dMT, 8 B3 AHI IF TUES
J5 | 799 9% UgT <t Hitpwr, Irae
feg fagm <t fasdt 3 224 fermer
J= 3 qy=femt & fasdt 9

(a) 5

(b) 8

(c) 10

d 15

fan 93 I feg, 8a, 2b, 70 &
H3SBE J “Truth is eternal’; “Tc, 9¢, 8b,
32 ¥ H3IBY J ‘Enmity is not
eternal’ ™3 ‘9a, 4d, 2b, 8b’ TT HIBY
3 “Truth does not perish’ | Js fou
feg fam = wW3®y I8 Iw feu
‘enmity’ 32

(a) 3a

(b) 7c

(c) 9¢

(d) 9a

Mr. A, Ms. B, Mr. C M3 Ms. D fea
g8 T wg-os 85 I5 wE

»UE UH AYdft 9997 99 99 TS -

1. Mr. A Y=3dt ¥ HIHS
(opposite)ga" T

2. Ms.B 3¢l @ A 831 T |
Tdt, ot @ U9 T |
Ms. D, Mrr. C ¥ HJHS
(opposite) ryia

A3 BT faold Un T& ?

(a) TIdAT W3 I

(b) TIHA WI Fregdt

(¢) BJE WMI grEgdt

(@ Tt W3 g=gdt
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77‘

78.

79.

80.

SCS-2

At what time, in minutes, between
3 o'clock and 4 o’clock, will both the
hands of a clock coincide with each
other ?

(a)

5 LS min. past 3
11

4
b) 12— min. past 3
(b) 1 P

© 13% min, past 3

@ 16-1’-4-1- s sk 2

A man swimming in a stream which

flows at 3% km/hr, finds that in a

given time he can swim twice as far
with the stream as he can against it.
At what rate does he swim ?

() 12-;- kaibr

(b) 6% kb

© 10% -

@ s% el

If 3% = 4Y = 12% then z is equal to
(a) 1

b X

(d) =xy

Given 1176 = 2P,3%9,7". The
numerical values of p, q and r are

@ 2,1,3
(b) 8.1,2
@81, 2,3
@ 2,31

717.

78.

79.

80.

(A-25)
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f3s w3 979 =9 © fegaq, fam Ad
(fifet fem) <5 gt fis 7
AT 2
(a) 5—1—ﬁ-rf23é?{a’

11
®» 122 filtsswa

11
© 13Xfiltssma

11
@ 16%1%?23%?&
feg et &t feg 39 fagr I,
froft fx 3% fadHieanter <
3839 35 <f7 3t I | fa G =<t
€ T ¢ fe9u 39T &8 &3 Ao
feg 3t @ =0 ¢ 3% ot
W rawr I | G0 faw w9 ¢ &%
g faar I 2

(a) 1

(e —

(d) xy

fagr fap™ 1176 =2P. 3. 7" T 37 p,

q¥3 r T WI-HS I

(a) 2,

(b) 3,

ey 1,
2

3
2
3
(d) 1

1,
1!
2’
3!

’
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